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Solve Right Triangles

Multiple Choice
Identify the choice that best completes the statement or answers the question.

1. Which of the following is least accurate using the given information? Lengths are in
centimeters and angle measures are in degrees.

Given: AC = 128; measure of angle B = 63.4

a. BC=64
b. AB=1469
c. measure of angle A = 26.6

2. Which of the following is least accurate using the given information? Lengths are in
inches and angle measures are in degrees.

Given: measure of angle A =27.8; AB=167.9

B —
A
C
a. measure of angle B = 62.2
b. AC=148.6
c. BC=82.1
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. Which of the following is least accurate using the given information? Lengths are in

inches and angle measures are in degrees.

Given: BC=46.4; AB =76.1
A

a. AC=060.3
b. measure of angle A =37.6
c. measure of angle B =57

. Which of the following is least accurate using the given information? Lengths are in

feet and angle measures are in degrees.

Given: measure of angle A =32; AB =1494

C
A B
a. measure of angle B = 58
b. AC=130.6
c. BC=79.2
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. Which of the following is least accurate using the given information? Lengths are in

centimeters and angle measures are in degrees.

Given: BC=29.9; AB =280.6
B

pro—

C

a. measure of angle B =72.6
b. measure of angle A =21.8
c. AC=7438

. Which of the following is least accurate using the given information? Lengths are in

centimeters and angle measures are in degrees.

Given: measure of angle A =42.3; AB =85

A

a. AC=629
b. BC=54.2
c. measure of angle B =47.7

www.mrtownsend.com



Solve Right Triangles

Answer Section

MULTIPLE CHOICE

AN ol S e

ANS:
ANS:
ANS:
ANS:
ANS:
ANS:

wW>wOAw

ID:

www.mrtownsend.com





